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Q.1. There are two firms in the market. The market demand curve is given by P = 1200 – 60Q. Total cost of each TC1 = 200Q1, TC2 = 200Q2. Compare Cournot and Stackelberg solutions for this model (Hint: Firm 1 is the leader and firm 2 is the follower for Stackelberg model)    
Q.2. Cournot duopolists face a market demand curve given by P = 300 – 6Q, where Q is total market demand. Each can produce output at a constant MC of 18/unit. Graph their reaction functions and find the equilibrium price and quantity.  

Q.3. Suppose the inverse demand function for two firms in a homogeneous-product Stackelberg oligopoly is given by P = 1800 – 6Q and cost functions for the two firms are C1 = 1000 + 600Q1 and C2 = 2000 + 600Q2 . Firm 1 is the leader and Firm 2 is the follower. What will be the equilibrium price and quantity for each? What is the market price?                                                                                                                                                              

Q.4.  a. Cournot duopolists face a market demand curve given by P = 200 – 5Q, where Q is total market demand. Total cost for firm 1 is TC1 = 100 + 5Q12  and total cost for firm 2 is  TC2 =200 + 5Q22 .Graph their reaction functions and find the equilibrium price and quantity.

b. Solve the above question by using Stackelberg approach if firm 1 is the leader and firm 2 is the follower. 
Q.5. Bertrand duopolists face demand curves given by for Firm 1 demand Q1 = 60-4P1 +2P2 and Firm 2 demand   Q2 = 64 -4P2 + 1.5P1. Assume neither firm has fixed costs (AC=MC) and MC = $2. What will be the equilibrium prices for each?
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